
ERRATA 

These Annals, Vol. II, No. 1, 1950. P. 18 insert af ter  last line of 
section 2 

"In these cases we have not the maximum value but only the 
stationary value just as the minimax solution. If we want  to obtain 
the maximum value, we must estimate the rational rate k~ and k~ 
from experiences in the past time. This fact holds also in the follow- 
ing sections." 

Vol. V, No. 1, 1953 
Page line 

27, 9, 

27, 12, 

27, 14, read 

27, last, 

28, 5-6, 

read M - 1  ( M - 1 ) ( R - 1 )  instead of the right hand side of (6) 
N 

insert under the assumption after  " w e  have" 
N,=N/R 

2 ( M - l )  + 0 ( ~ )  + O ( 1  ) instead of the right hand side of(8) 

~strike off the table~ 

~strike off the sentence "under  the condition M=R(R-1) 
and R ~ 1 "  

Vol. VI, No. 1, 1954 
Page line 

13, 12, read (MMp~)p~'~q~L~t instead of (~p~)p~"%p:'% 

14, 3, read 0.96N instead of 096N 

15, 6, read ...k~/i*D2(X)t~_~ instead of ...kl/~~D2(X)< 

15, 23, read Xr~ instead of X~) 

24, 7, read --/~iI(2)#2o(2)... instead of -/~,i(I)/~2o(2)... 

24, 1O, read ~ ( ( ~ - - ~ ) . . .  instead of ~ N ~ ( ~ - X ~ ) . . .  

25, 9, read ~ [ ~-  2) "'" instead of 2NIN2,~ ~ x l -  Y , ) ~  �9 �9 

+ ~ ( N ~  +N~) . . .  instead of s ~ . ~  +N~)-- .  

28, 2 from the bottom, +O(n-'V5 instead of +0(-s~) 

30, 11, read -.4/~8~ 4/~18 k . . .  instead of _ 4/~s~ _ 4 ~ + . . .  
~Ii~20 ~il ~02 ~ii~21 ~11~12 

36, 3 from the bottom, the coming issue instead of this issue 



Page line 
54, 6, read [20J, Lemma 

63, 28, read e 1~c~ 

97, 6, read (X j, Y~) has 

98, 2, read lira D(S~j) 

instead of 

instead of 

instead of 

instead of 

[20,  Lemma 

(Xj, Yj has 

lira ~,  D (Sw) 


